Enrichment

Name
9-8
Money Patterns
Complete each table. Then use it to solve each problem.
1. Diego is making the penny pattern shown below.
He wants to make 5 rows. How much will all the pennies
be worth? e
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Answer:

2. Lauren is making the nickel pattern shown below.
She wants to makes 4 rows. How much money will all
the nickels be worth?

Rows 1 2
Nickels 5 7 9
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Answer:

3. Doug is making the dime pattern shown below.
He wants to makes 5 rows. How much money will all
the dimes be worth?

Rows 1 2 3 4 5
Dimes 4 8 12

Answer:
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